Get out your homework and start checking your answers.

Classwork - One Step Equations with Simplifying
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1) Solve the following one-step equations. Make sure to show inverse operations on BOTH sides and WORK
DOWN, SHOW ALL WORK. Guess and Check is not 2 method to use anvmore,

Example: x+5 = —4 Check Your Work! E:::u_E;e
*+5 = —4 | Put your sclution into the criginal Ve E - —4
-5 -5 equation to check if the left sideof | 222 ( J'; -
g = =0 the equation is equal to the nght 4= —4
side of the equation
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Simplifving Equations Before You Solve

Simplfying P ApenTHESES $

Before vou solve equations, vou need to make sure that both sides of
equation are completely simplified first. When si:np]jfjms E XPONENTS
vou follow the order of operations in the usual order. Then after we M ULTIPLY
have simplified both sides of the equation and are solving, we need to D IVIDE
work in the reverse of the order of operations since we're working 1"""1. oD
backwards to solve forthe vanable. . S UBTRACT
’ v Solving

Example: Solve the equation —6x — 2x k 24

]
@ = 74 Simphfying: 1)Identifylike terms by circling or boxing 'thl.':m:I “‘-ML :kh‘. %t)“‘
/ 2y Simplifyv both sides of the equation by combining like terms
—8x Solving: 3) Use inverse operations to undo what's acting on the vanable on
—8 —&g BOTH SIDES .
— 4) Simplify the equation until vou selve for x or 1x @
lx = =3 5) Check vour solution! - x==3
o =6(=3) - 2(-3)=24
= -3
. 1846 = 24
2) Simplify and THEN solve the following one-step equations. Make sure to show 24 = 24
inverse operations on BOTH sides and WORK DOWN. SHOW ALL WORE. = =3 is comrect
Gues #ck 13 not a method to use anvmore,
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